TIME (s)

RGSL1 efficiency in the routine phase: Revs 3001 to 3600

Scheduled Science : 74836 ks
Performed Science : 72815 ks

180000 180000
]
‘®
o O
5 £
160000 o ® = 160000
o s (9]
2 < 2
% o 5]
< a =
140000 +—11F & —utl T ;1 ——T (— T | } - 140000
I ‘ L]
(I 1 . ' I | | | U y I !
1! y 1
1 i I 1 ‘ I I I 1 IIIII. |||I| II I
190000 JEUTAN. A& 0 TE LINLE e e | B | | ..__'_.l_._-_ Bl IE _| L .__._I'_ {1} 7] —— ] UL iRy any | L | LR ] 1N dL- 150600
| [ : Y L (! . .r -
| | I I | | |
- ] || | ‘ I |
100000 - - [ ‘ [ ~ 100000
80000 - ! 1 [ - 80000
60000 - [ - 60000
40000 - [ - 40000
20000 - - 20000
0 T T T T T T T T T T T T T T T T T T T T T T T T T T T T 0
3001 3021 3041 3061 3081 3101 3121 3141 3161 3181 3201 3221 3241 3261 3281 3301 3321 3341 3361 3381 3401 3421 3441 3461 3481 3501 3521 3541 3561 3581
REV #

Performed Science I Solar Fares G/S Problem I Inst Problem I Support other S/C I S/C Problem Science Win






